Chapter 3

Addition
Question 1:
How many altogether?
| |Flnw-:'rs and | .]*'InWE'rﬁ

| Birds

Answer:



L

_5 Flowers and 2 Flowers

Flowers

Question 2:

How many altogether?







Question 3:

How many altogether?



Answer:
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Question 4:
Addition



4+ 2 =

Answer:




4
4+ 2= 6 + 2
i)
5
+1l= 6 + 1
6
3
3+ 6= 09 6
9
7+0= 7 7
+ 0
- 0
0+9= 9 e
9
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Question 5:

Addition



5+ 0

Answer:



Question 6:

Addition



b - - e - 4
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Question 7:

Add and match.
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Answer:
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Question 8:

Add.

Answer:



2+ 7 = 9 1T+ 3 =
3+ 5 = b 4+ 1 =
4 + 0 = W] 0+ 2 =
2+2= 4 3+4=
Question 9:
Add.
3 5 3
+ B + 2 + 3
0 6 1
+ 8 + 3 +
2 5 3
+ 3 + 0 + 4

Answer:







Question 10:

Write the missing numerals.

+ = 5
+ = 7
+ = 4
+ = 8
Answer:
2 |+ 3 = 5
3 |+ 4 = 7
2 |+ | 2 = 4
4 | +| 4 = B




